BIZERHEERE
BIZ

o HTREs @I, LEBEEMNE .
o RF A wL vt BN e s AT AR AE s O AR ) 51 R B 3R B .
° HeT TR E KGR

o W EEAAYERE NN A KRR, THERE

e 5 BAND-IT #L# f#L 40, Valustrap™, Valustrap Plus™ i i 7T =X & Je 3 [7) 48 F .

NRIBHZER

2 i3 B RE g 8
| In mm Lbs Kg
D31099 Flared Leg mini-Brack-It, SS with 0.050 1.3 50/box 30 15
SS bolt and fiber washer. 1/2" slot
D315699  Straight Leg mini-Brack-It, SS, with 0.050 1.3 50/box 3.0 1.5
SS bolt and fiber washer. 1/2" slot
D30288 5/16-24 x 1/2" Hex Head SS bolt, - - 50/box 1.0 0.5

washer and fiber washer for
mini-Brack-It

HigtE BRI
B i3 A BE e 8
In mm Lbs Kg

D02189  Single bolt flared leg SS Brack-It with 0.070 1.8 50/box 70 3.2
SS bolt, washer and fiber washer.
3/4" slot

D02299 Single bolt flared leg SS Brack-It only. 0.070 1.8 50/box 556 75
3/4" slot

BiZe H AR

2 i B BE 2 =

In mm Lbs Kg

D001838  Single bolt straight leg SS with SS bolt, 0.070 1.8 50/box 7.0 3.2
washer and fiber washer. 3/4" slot

D00499  Single bolt straight leg SS Brack-lt only. 0.070 1.8 50/box 56 2.5
3/4" slot

X242 B 22

w2 158 R N2 B8

~In mm Lbs Kg R

DO0889 2 bolt straight leg SS Brack-It with SS 0.070 1.8 50/box 92 42 m"‘ .
Bolt, washer, and fiber washer. 3/4" slot

D0O0999 2 bolt straight leg SS Brack-It only. 0.070 1.8 50/box 7.1 3.2
3/4" slot

BZE RV EZfe FNEE

) 5% B -— 8 e

D00299 5/16"-18 x 3/4" Hex Head SS bolt, 50/ bag 1.3 0.6 -_ay £ = |
washer and fiber washer -

£ 7 [E =4 B A pze #6700 [ 5 L B2

FHi = > iy = E%

AT 'IRHH ﬁﬁi Lbs Kg

DO0799 L-Mount right angle bracket, 0.070” 50/box 4.4 2.0

thick SS, includes two bolt holes
suitable for 5/16” or 1/4” bolts. Solid
anchor for signs mounted at right angle.
Does not include bolts.

16 www.band-it.com.cn




Z iR

RS A =
D51082 Mounting Plate, Aluminum, 1-1/2" (3.81 mm) x 4-3/4"
:(1 20.7mm) with a 2" long 5/8" plated bolt. Band slot width
1-3/8" accomodates double wrap 1-1/4" Giant Band
D51289 Mounting Plate, Aluminum,1-1/2" x 5-1/4" with a 2" long
5/8" plated bolt. Band slot width 1-3/8"
accommodates double wrap 1-1/4" Giant Band
Mounting Plate, Aluminum,1-1/2" x 5-1/4" with a 3" long
5/8" plated bolt. Band slot width 1-3/8"
accommodates double wrap 1-1/4" Giant Band

21.3 9.6

D51389

o IR H 5/8 - 11 x 2" (50.8mm) 42 k4 FIiB k],
B & N AN T vt
o gL wE1.375" &A1 1/4"

X .044" B RB A7 i) 3= BOUR FESE

U Y:

D50089 Bolt/Clamp. Includes a 3/8-16 X 6.0" carriage bolt.
Slot will accommodate 3/4" width Giant Band

D50489 Bolt/Clamp. Includes a 5/8-11 X 8.0" carriage bolt. 25/box 35.0 15.0
Slot will accommodate 1-1/4" width Giant Band

o BIREAHIKEe T A TSN, EEEHEE .
e 5 BAND-IT #LarFLAMEH -

Hy

ESATRFE 1-1/2" NPT

= 15t BR
D04099 Signal Mount,1-1/2" NPT 19.4 8.3 N\
D04599 Narrow back signal mount, 1-1/2" NPT 25/box 18.3 8.3 )

e H 3/4" Ultra-Lok ¢ BAND-IT L7 5 #F[E 2
o R[S ST wEE NI FZE ST BRI HE K.
o EYE T ZERMNAHT/NERIEZ AR FHEEZ BT .

h-

A iR ER TN B RNR =M

i
%(%.F
E

XS N H T 142 BAND-IT r72ah, &&IAAKEE ) S54F, B4, FH _ |
B 5FFEE AR AERT. WHAXRI - RERIESEH120. A - ~
Ultra-Lok B rT k. Ursg el i R BAND-IT .

AR

M BAND-IT
5E il R E Pt

W
i
%
Qo
=

www.BAND-IT-IDEX.com 17






